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You have spanned all switch port 1 traffic to switch port 2. Answer the
guestion for each capture point shown in the image.

When Capturing at Point A

What should the source and destination MAC addresses be for a packet sent
from Host A to Server A?

Source MAC: Destination MAC:

When Capturing at Point B

What should the source and destination MAC addresses be for a packet sent
from Host A to Server A?

Source MAC: Destination MAC:

When Capturing at Point C

What should the source and destination MAC addresses be for a packet sent
from Host A to Server A?

Source MAC: Destination MAC:
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